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1. f(x)=x>-4x* +8x-1, g(x) =a(x-1)(x-2)(x-3) +b(x—-D)(x-2) +c(x-1)+d H f(x)=g(x) °
Hil(a,b,c,d) =
EE: (L2349
i | f00=9(0)
S fQ)=1-4+8-1=4=d=g(1)
f(2)=8-16+16-1=7=c+4=9(2)=>c=3
f(3)=27-36+24-1=14=2b+6+4=2b+10=g(38) =>b=2
f(4)=64-64+32-1=31=6a+12+9+4=6a+25=9(4) = a=1#(a,b,c,d)=(1234)
2. Tla b HEH - 7 f(x)=x" +ax+b, g(x) =bx* +2x-a » # f(x)-g(x) YFEREF - x*TH 4
Bk 0 HEIER 8 - HIE (a,b) & :
BE -4

AT ¢ F(X)-g(X) ="+ (-a+2a+b*)x* +---—ab

, 8 ..
EEI®{%'=a=—Eﬁ/\®T%

—%+b2 =0=>b*-8=0=(b-2)(b’+2b+4)=0=b=2 ..a=-4 if(ab)=(-42)

3. EHf(X)=3x"-4x’+ax+5Ux-128; k2> Hla ZfHE 7 f(%):—.
BE: 2,4
T s f()=3-4+a+5=2=a=-2
3—4—2+5%
+1-1-1
33-3 -3 4
1-1-1
N
'-f(g)—4

4. Fra b BEE > ExP+x-22 F(x)=x°+30x° +ax+b AL > % (a,b) =
B (11,-42)
fEfT x2+x—2‘ f(x) = (x+2)(x=1) | f(x)
S f@=0H f(-2)=0
f(1)=1+30+a+b=0 a+b=-31
f(-2)=(-2)""+30(-2)° -2a+b=0 - {Za—b =1024—960 = 64
5. BRI TR g(x) 2mE=kQ(x) » &r=lkr(x) - 4 a b HER - BHIE0 ZEE - Alblaf (x)
FREAbg(x) » AIFSREE » R :
EF 1 2Q), ar()

AT () = 9(%)-Q(X) +1(x)

fiffsa=11, b=-42




= af () =g (x)- Q) +ar(x) =bg(x)- [ QU] +ar(x) EEE=LA- Q)  fRstAar(
6. EZIER f(x)BREL(2x—3) Z 270k 16 - HIf
(0 F () B0 2x-3 2 B 2 .
@)X (OB X~ Ry .
EFE (154 (2)36

AT ¢ 12 £ (x) = (2x=3)Q(X) +16 > .. f(%)zlG
()10 = x-30QUT+168  Hathatss O 1) =2 x16-54

(2) X7 (x) = (X—%)[ZXZQ(X)]+16X2 HeaEt R (%)2 f (g) - %xle ~36
7. a b BEE . ¢+ x—2 TR F(X) = (x—a)[(x—1) + b(x~1)+18] - HIELE (ab)=_ .

BE(L9)
BT ¢ (x+2)(x=1)| f(x)
o f(l)=1-a=0=a=1
f(-2)=(-2-a)[9-3b+18]=0=27-3b=0=b=9 (a,b)=(L9)
8.  EXCHnx+1EExC+3x% +mx+20% > Him= . nN= o

EE 31
1+2

ﬁﬁﬁ:1+n+1>1+ 3 + m +2
1+ n + 1

+@B-n)+(mM=-1)+2

2 + 2n +2
0
..3-n-2=0=n=1 m-1-2n=0->..m=3
9. B f(x)=x+2x"+ax—7 DLx— 281 x+ 3935l HeRBOHE Hla=_ > SCHERER .

&F:-5-1

BT F(2)=f(-3) » ..8+8+2a-7=-27+18-3a-7=a=-5 BREE (2)=-1
10. 3% f(x)=3x* —7x2 +5x* -8 » Al x+1[ f(x) eE=t A .

Bz 13

figfT ¢ f(-1)=-3-7+5-8=-13

11 NBEFIRSRERRER 2x" + X7 +5x° + 2x+ 3R DA 2x —a 158kt 18 » HE

i b oe-12  f
O brl=-2 > ".b=-3 2-2 d e g

®'.'2x%=b=—3 , .a=-3

® c=(—2)x%=(—2)x(‘73)=3

@d=5+c=5+3=8
®e=2-12=-10



a -3
© f =ex_—=(-10)x(—-) =15
x5 =(=10)x (=)

S.d+f=8+15=23
12, EHIBIER (0 » BRI K-Lx-2, -2 BRI F 4,26 > F(OFDL
(x-1)(x—-2)(x-3) g\ By ax’ +bx+c > Hla+2b+3c= :
EE |25
FRAT ¢ REETTER £ (X) = (x-1)Q(x) +4---D
=(x-2)Q,(x)—2------®@
=(Xx-3)Q,(X)+6------ ©)
= (x=1D(x=2)(x—-3)Q(X) +ax’ +bx+c------ @
X=1LAO®Ea+b+c=4----. ®
Xx=2A@®E4a+2b+c=-2-----®
x=3{LAO®®E9a+3b+Cc=6----@
®-01%E3a+b=-"06-----
@-®755a+b=8------@
O-®fF2a=14=a=7
RAO®Fb=-27
HRA®FCc=24
C.a+2b+3c=7-54+72=25
13. 5% f () B—(E = kel 75 f(x) 2 [E %8 (2007,4) » (2008,5) > (2009,8) =%k > HI f (2015) =

B 68
fedl + R A-IERREDL - Alax
f(x) =a(x—2007)(x—2008) +b(x—2007)+c
X = 2007 f£ A/ £ (2007) =c = 4
X = 2008 X Af5: (2008) =b+c=5=h=1
x=2009 X A5 f(2009) =2a+2b+c=8=a=1
. F(X) = (x—2007)(x — 2008) + (X —2007) + 4 = f (2015) =8x7+8+4 =68
14. FETEA X +4x2 +5x=3FRLA f () BpE=U ks x+2 0 BRB 2x -1 Al f(x) = .
x2+2x—1
1+4+3-2|-2
—2-4+2
1+2-1+0
f(X) =X +4x° +5x=3—-(2x =]+ (x+2) = (X +4x* +3x—-2) = (X +2) = x* +2x -1
15. #E%IET f(X)=ax’ +2x° +bx+4 > H f(-1)=1> H| fQ) =
B
it f(-)=-a+2-b+4=1=a+b=5#fQ)=a+2+b+4=11
16. ZZIER f(X) =X +ax’ —x+ 44 x— 2FRER 2 > AIZIE (X) 17 X+ 2 BRI

3



&2z 10

f#ffT : f(2)=8+4a-2+4=2=a=-2 f f(-2)=-8-8+2+4=-10
17. Fdegf (=3 A fM)=1(=0" f(0)=2 f(-)=-6 A f (0=
BE L (2x+D)(x-1)(x-2)

AT * % T (x) = (ax+b)(x—1)(x - 2)

ot ae gm0 (ED(E2)=2 b=1
F(0)=2 - f(-1)= 6ﬁ/\fﬁ~{(_a+b)(_2)(_3)2_63{a:2

# f(X) = (2x+1)(x-1)(x-2)

18. # F ) =xT+xZ 4 x4 x+2 0 JIFOBRLAOC +x+1) ZgptB_

EE:2

é\x2+x+1:0:> x> =-x-1
= (X=D(x* +x+1)=(x-1)-0
=x*-1=0
B =1 A f(x) P15
JHE = O) + ()2 + (x°)° X+ x+2
=1+ X2 +2x+2
=x?+2x+3
=(-x-1)+2x+3
=X+2

K By x+2

- (R RVEERH)

19. BT () FIREEIR =20 B ) BRPAX =1, x* = 2x+3 Z 8537 s 2 81 4x+8 » HILL

(x=D)(x* —2x+3) & f (x) Z &=Ly :
B -5x +14x -7
FEAT ¢ (X) = (Xx=1)Q,(X) +2 = (x* —2x+3)Q, (X) + 4x+8
2 F(X) = (Xx=1)(X* —2x+3)Q,(X) + a(x* —2x+3) +4x+8
fl)=2a+4+8=2=a=-5
Cr(X) = =5(X* —2x+3) + 4x+8 = -5x* +14x -7
20. #degf(x)=3 H f(0)=fQ)=f(2)=4, f(3)=-2 - H|f(-1) =
&% 10
AT & % () =ax(x=1)(x-2)+4
f(3)=ax3x2xl+4=-2=a=-1
S ==x(x-1)(x-2)+4
HF(-1) =1(-2)(-3) + 4 =6+4 =10

21. #degf(x)=3 » H f(100)=1 f(101) =9, f(102) =7, f(103)=7 - Hi f (104) =

B2

‘ﬁﬁ){tﬁ : \gﬁ f (x) =a(x-100)(x —101)(x —-102) + b(x —100)(x —101) + c(x —100) +1

f(10)=c+1=9=c¢c=8
f(102)=2b+8x2+1=7=b=-5
f(103)=6a—-5x3x2+8x3+1=7=a=2

2. (%) = 2(x —100)(x —101)(x —102) — 5(x —100)(x —101) + 8(x —100) +1

= f(104) =2x4x3x2-5x4x3+8x4+1=48-60+32+1=21



2. 4322y g3=2V25 15 3-22), o
2 2 2
EE 5
BEAT © 3% (X)) =4x* —8x* —15x% +13x +4
% xe 3—2\/5

1+ 1-1
4—12+1)4— 8-15+13+4

4-12+1
4-16+13
4-12+1
—4+12+4
- 4+412-1
5

3-242
2

)+4=

— 2X—3=-24/2 = 4x? —12x+9 =8 = 4x* —12x+1=0

BT f(x) = (4x* —12x+)(x* +x-D+5  f(

)=5

3-242
2

23. FH () =x* -5 +4x* —6x+2=a(x+1)* +b(x+1)° +c(x+1)*+d(x+1) +e - Hi(a,b,c,d,e) =
_ Hf(099=__ . (MUEBEAEDNECEEE )
B 1 (1,-9,25,-33,18), 17.67
AT
1-5+4-6+2-1
-1 +6 —-10 +16

1 -6 +10 16|, 18
~1 +7 -17|11

1 -7 +17{,-33
-1+8| -1
1 -8, 25
T
1, -9
(a,b,c,d,e) = (1,—9,25,-33,18)
SO0 = (x+D* —9(x+1)% +25(x +1)* —33(x +1) +18
£ (~0.99) = (0.01)* —9(0.01)° + 25(0.01)? — 33(0.01) +18 ~17.67

x* +ax® —6x%+bx+1 .

24. Fa b BEH > Hf(X=

5 T R ek EL - HIIECE (a,b) =
X —2x-1

EX:00
FEATT < . (0 B ek



SoxE=2x =1 A Xt rax® —6x2 +bx+1 2 AR

1+ (a+2)- 1
1—2—1)1+ a - 6 + b +1
1- 2 -1
@+2) - 5 + b

(@a+2) —(2a+4)-(a+2)

+(2a-1)+(a+b+2) +1
-1 + 2 +1

2a + (a+b) +0
. |2a=0 a=0
. =
a+b=0 b=0

25. F f(x) Ry x F=ZEIEA  g(x) By x fIPUZR I - Al

1) () 2 x1y___ K& mE.

(2) ()90 & x Hy_ WA,

(3) f (x)—g(x) & x #Y__ I,
BE6.7.4
fERT T 2 f()=a+bx®+cx+d » ab,c,d BEE

(1) f(x*) =a(x?)* +b(x*)* +c(x*)+d =ax® +bx* +cx* +d = deg f (x*) =6

(2)deg(f(x)-g(x))=deg f(x)+degg(x)=7
(3)deg(f (x)—g(x)) =degg(x) =4

26, #f(X) = (XY —4x® +4x® =3x* —1)(x" —2x° +5x° - x+2)

=a, +aX+a,x +--+a,x™ s H:
Da+a+a,++a,=__
(Qa,+a;+a.+a, +-+a,=__ .

B -15-20
FEHT ¢ ag+a,+a,+-+a, = f(1)=(-3)x(5) =-15

A +a;tag+ta, =

f()-f(-1) _(-15)-25 _

2 2

27. F () =X -5 —kx+Q A x 3%k > Al k=__ > X F(x)=0ZFR%

wZE e -3:3,3,-1
AT ¢ | £(3)=0 > 27-45-3k+9=0 » ."k=-3
1-5+3+9]3

+3-6-9
1-2-3+0

—-20

SR =(x=3)(x-3Y(x+D) L F(X)=02=HRE33,-1
28. # f(x)=x"—2x"+4x-1,9(x) = f(2x+3) > RILL2x+1[% g(x) AUEREC A :

B% T
g(—%)= f(2)=8-8+8-1=7

29. SRDAX®+2x+3F (2x° +x+6) FrE > aa et

6

N
Iy




B -27x-162

27 +54
FEAT @ 2X° +X+6=2(X" +2X+3) —3X 1+2+3)-27+ 0+ 0+ 0
—-27-54- 81
SRR =[2(x% +2x+3) = 3] + (X* +2x +3) 54+ 81+ O
54 +108+162

- 3. (y2 O — —
A (3%)° + (C +2x+3)  dlegpEt B —27x 162 ~27-162

30. #EZIET f () BRLAX-1> x=2 > x-3 ZEpF A 3> 7> 13> Al £ (X) BREL(x—1)(x—2)(x—3)
ZERA Ry ’
B X+ x+1

F(0=(x-1)-Q(¥)+3
= (x-2)-Q()+7
= (x-3)-Q,(x) +13
= (x~)(x~2)(x~3)-Q, () +a(x~1)(x~2) +b(x~1) +3

a-2-1+b-2+3=13 a=1
fmx=3> ZFCM%{ :>{

b-1+3=7 b=4

R (X =) (x=2) +4(x =) +3=x"+x+1



